
EXERCISE SET 5.4 

P -• ce i= ercic.es 

In f:.'xcrcises 1- 18 . . w t,·e each system by rile suhsriruricm m ethod . 

{

.r + ,, = 2 {.r - v = - I 
I. . , 2. . , 

y = x - - 4 y = .r- + 

{ 
r + ,, = ? 1 . . , -
y = r - 4x + 4 

:; {-" = x
1 

- -lr - 10 
. . y = - x2 - 2.r + l-+ 

{

x :! + .,2 = ?'i 
7. .' - -

x - y = l 

9_ {x_v = 6 
2.r - y = I 

II. {y2 = x 2 - 9 

2y = X - 3 

13. {X;' = 3 
x· + y2 = 10 

15. {X + Y = I 
x2 -I xy - y2 = - 5 

17. {X + Y = I 
Lt - I )2 + (y + 2 )2 = Io 

• 

{
2 r + v = - 5 

4. , 
y = .r- + 6.r + 7 

{ 

V = x2 + 4.r + 5 
6. , ") 

y = .r- + 2r - I 

{
x 1 + y2 = 5 

8. 
3.r - \ I = 5 

{
xv = - 12 

IO. . 
X - 2y + 14 = 0 

{

.\' 2 + y = 4 
12. 

2r + v = I 

{
xv = 4 

14. 0

7 ., 
x - + y~ = X 

{
.\' + y = - 3 

I<,, ., , ., • 
x - + 2y- = I 2y + 18 

{
2 r + y = 4 

IH. (.r 1- I )2 + (y - 2)2 = 4 

/11 Exercises / 9-28. solve each system by the addition m ethod. 

{x
2 + y 2 = IJ {4x2 

- y2 = 4 
19. .r2 - y2 = 5 20. 4x2 + y2 = 4 

{
x2 - 4v2 =-7 

21. ') 2 Jx- + y = 31 

23. { 
3.r2 + 4/ - 16 = 0 
2r 2 - Jy2 - 5 = 0 

{
.r2 + y2 = 25 

25. ., ., 
(x - 8)- + y- = 41 

{

/ - X = 4 
27. x 2 + y2 = 4 

{
3x 1 - 2y2 = - 5 

22. , ., 
2r - - y- = -2 

24
_ { 16x~ - 4y

2 
- 72 = O 

x- - y 2 - 3 = 0 

{

x2 + y2 = 5 
26. ., 

.:c + (y - 8)2 = 41 

"8 x - - 2y = 8 { 
') 

- • x 2 + y 2 = 16 

/11 Exercises 29- 42. solw.> each system by the m ethod ofyou.r cho ice. 

{
Jr2 + -t/ = 16 {X + v2 = 4 

29. 30 -,, 2 3 2 - 5 • 2 , ..:.X - - Y - . x + y" = 16 

.B. 

{ 
, ') 

2r- + y- = 18 

x v= 4 

{

.\'.2 + 4y2 = 20 

X + 2y = 6 

{
x~ + y = 0 

35. , 
x- - y = O 

32. {.\'2 + 4y2 = 20 
xv= 4 

34_ { 3x2 
- 2_v2 = 1 

4x - y = 3 

36. { .r3 + _\' = 0 
2x 2 - v = 0 


